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#A) e 1,835 1,893 0 0 0
1854 SHE 630 630 589 577 521
S 524 592
2F 4 SHE 528 497 496 466 456
S 536 472
snE[3FE SHE 482 480 452 452 423
H (P =& 363 435
<8 pr-rs SHE 264 268 267 251 251
e 266 249
544 SHE 146 140 143 141 133
e 98 109
644 SHE 79 77 74 75 74
e 48 36
HHRREH(N) SHE 1,931 2,022 2,021 1,962 1,858
e 1,835 1,893
EEH(N) SHE 1,931 2,022 2,045 2,073 2,073
e 2,493 2,468
BRAR|7578 SHE 42 42 42 42 42
(A By 41 41
EMEISAT (EFTE) | tE 25 25 25 25 25
e 24 24
REESEEBEH(A) | HE 133 135 135 134 133
e 132 135
11 EREFEZE
BM2EE | SHSEE | SHAEE|SHSEE|SH6EE
ENRRA HHE 1,163 1,126 1,099 1,073 1,063
i |[EEEOD = 1,368 | 1,119
BUE) |EXFIRARN) | 26 26,930 | 16,459
EEREAS SHE 41 41 41 41 41
CREY T 41 41
12 FECRPXZBEFE(CI—LRTT)
BM2EE | SHSEE | SHAEE|SHSEE|SHeEE
%gﬁﬂ SHE 0 0 0 0 20
|
RN SHE 0 0 0 0 1
(ErTH) =i
OftEEZRELIGAEDERH HBAS

THAOREREER TERERET DESRFASNDRSITH o128,

13 REHURIZFRIMEHRLETS

E S

TR29OFELYREELFTHILL, EREEFTOFELH,

BELE - REFORMERZITSEOREELNEICTILSK
MEOTESMEZO—BHPETO TS,

14 SHRBERDPEFEICBSATEILEZRET H-ODEE

EHo—2



